Appendix |

L%(z)=-5, S(z)=2

ANSWERS TO ODD-NUMBERED EXERCISES A-73

Complex Numbers
(page xviiv)

3Mz) =0, JI(2) = ~n

2l =2, 0 =3n/4 7.0zl =3, 0 =72

9.1zl =5, 6 =tan~!2

IL |z =5, = -7 +tan~!(4/3)

13.1z2l =2, 6 = —n/6 15.z| =3, 0 =4n/5

17. 117/12 19.4 + 3;

2.5 4 1 23.1 - %

25, —3+51 27.2+1i

29. closed disk, radius 2, centre 0

31. closed disk, radius 5, centre 3 — 4

33. closed plane sector lying under y = 0 and to the left of
y=-x

35.4 37.5—i

39.2+ 11i 41 -4+ 1

43. 1 )

47. 20 = -3 - 3;, i: ];si

49. (a) circle || = \/— 2, (b) no solutions

51.~1, L+ 3

53. 2/5(cos @ + i sin6) where 6 = 7/4, 11 /12, 197/12

55,4214 (£ 4 41}, 44 (3-4)
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21.
23.

25.
27.
31.
33.

35.

O0<Mw) <1,

carg(w) = 57 /6
11.
15.
19.

Complex Functions
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—2<J(w) <0

3
.15|w|54,7r§argw5—2—

. ) - I
w] < 00, Targw <

9. parabola v = 4y + 4
u=>0,v>uy 13. f(z) = 2z

@) =~1/22
/

. d .
—=-sinhz = coshz, — coshz = sinh z
dz dz

z=%+k7‘r, ke Z)

zerosof coshz: z = § (— + /ur) kel

zeros of sinhz: z = kni (k Z)
M(sinh z) = sinh x cos ¥, J(sinhz) = coshxsiny

z2=0, =2/ 29.2=-142

\/—4+l)(z ~V2z4+ 1)

=—l, —l —~1, i, —i



